October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	140	27.52	5.0872	140.0000	100.00	2	Cannon, Paul

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	140	47.34	2.9573	140.0000	100.00	5	Donavon, Chris
2	140	55.17	2.5376	120.1305	85.81	6	Spooner, Wayne

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	140	44.51	3.1454	140.0000	100.00	4	Meddins, Daryl
2	140	45.67	3.0655	136.4440	97.46	1	Davies, Martin

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name
1	140	38.04	3.6803	140.0000	100.00	3 Jiggens, Mark

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT	
1	40	5.77	6.9324	40.0000	100.00	2 Cannon, Paul

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	7.37	5.4274	40.0000	100.00	6	Spooner, Wayne
2	40	7.92	5.0505	37.2222	93.06	5	Donavon, Chris

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	6.87	5.8224	40.0000	100.00	1	Davies, Martin
2	40	11.03	3.6265	24.9139	62.28	4	Meddins, Daryl

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	40	7.28	5.4945	40.0000	100.00	3	Jiggens, Mark

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT		TOR
1	35	6.58	5.3191	35.0000	100.00	2 Cannon,	Paul

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	35	13.16	2.6596	35.0000	100.00	5	Donavon, Chris
2	35	14.56	2.4038	31.6346	90.38	6	Spooner, Wayne

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	35	6.25	5.6000	35.0000	100.00	1	Davies, Martin
2	35	15.47	2.2624	14.1403	40.40	4	Meddins, Daryl

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name
1	25	10.87	2.2999	35.0000	100.00	3 Jiggens, Mark

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	50	27.02	1.8505	50.0000	100.00	2	Cannon, Paul

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	50	14.17	3.5286	50.0000	100.00	5	Donavon, Chris
2	50	16.29	3.0694	43.4929	86.99	6	Spooner, Wayne

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	50	13.50	3.7037	50.0000	100.00	1	Davies, Martin
2	50	14.09	3.5486	47.9063	95.81	4	Meddins, Daryl

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	50	14.62	3.4200	50.0000	100.00	3	Jiggens, Mark

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	120	23.69	5.0654	120.0000	100.00	2	Cannon, Paul

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	120	48.41	2.4788	120.0000	100.00	5	Donavon, Chris
2	120	53.36	2.2489	108.8681	90.72	6	Spooner, Wayne

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	120	33.91	3.5388	120.0000	100.00	1	Davies, Martin
2	120	35.59	3.3717	114.3355	95.28	4	Meddins, Daryl

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name
1	120	34.62	3.4662	120.0000	100.00	3 Jiggens, Mark

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	40	6.00	6.6667	40.0000	100.00	2	Cannon, Paul

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	7.45	5.3691	40.0000	100.00	6	Spooner, Wayne
2	40	9.58	4.1754	31.1065	77.77	5	Donavon, Chris

October 2022 Club shoot

Printed October 4, 2022 at 11:16



·		PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C #	OMPETITOR Name
2 40 11.14 3.5907 32.4596 81.15 4 Meddins. Da	1		0.0.		40.0000 32.4596		1	Davies, Martin Meddins, Daryl

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name
1	40	7.66	5.2219	40.0000	100.00	3 Jiggens, Mark

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT	
1	45	11.07	4.0650	45.0000	100.00	2 Cannon, Paul

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	9.07	4.9614	45.0000	100.00	6	Spooner, Wayne
2	45	10.61	4.2413	38.4684	85.49	5	Donavon, Chris

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	10.66	4.2214	45.0000	100.00	1	Davies, Martin
2	45	11.26	3.9964	42.6021	94.67	4	Meddins, Daryl

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT TIME FACTOR		STAGE PERCENT		
1	45	12.26	3.6705	45.0000	100.00	3	Jiggens, Mark

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	110	19.32	5.6936	110.0000	100.00	2	Cannon, Paul

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	COMPETITOR # Name	
1	110	33.59	3.2748	110.0000	100.00	5 Donavon, Chris	3
2	110	40.91	2.6888	90.3178	82.11	6 Spooner, Wayr	ne

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	110	43.05	2.5552	110.0000	100.00	4	Meddins, Daryl
2	95	37.93	2.5046	107.8236	98.02	1	Davies, Martin

October 2022 Club shoot

Printed October 4, 2022 at 11:16



	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	110	30.15	3.6484	110.0000	100.00	3	Jiggens, Mark